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UPSC CSE 2022 MAINS PAPER 6 SEPTEMBER 25, 2022 MANAGEMENT OPTIONAL PAPER-1 QUESTION PAPER
) JA~ed (gg7-a=1)
MANAGEMENT (Paper I)

fAeiRa aqg : o7 goe T FF : 250
Time Allowed : Three Hours Maximum Marks : 250
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and

in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted

choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which

must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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1.() VEHF R YT F A= F gEA i H UgAH W | AW IR B A ITYH
Sereen grT fog |
Identify key differences between a manager and a leader. Justify your answer with
suitable examples. 10

1.(b) vaem & faftrr gfeeror 1 & 7 Sugeh Sl afeq el SR e favemo &
it &t fadwand v @ wwEd |
What are various approaches to management? Explain characteristics and
limitations of any 4 approaches to management analysis with suitable examples. 10

L) U sEem R T sqded & o # R a | ame sifeem g, wha
HIFAT & TH faearR W ® 7
Differentiate between classical conditioning and operant conditioning. How is social
learning theory an extension of operant conditioning ? 10

L) ager @ W 7 A F yEae % e U AR | EEATHE GRedd b e 6
i gfewmr A v e |
“Change or Die!” is the rallying cry among today’s managers. Enumerate and
explain three approaches to managing organizational change. 10

1.(e) waud Fr frft S ¥ wfreor 6 smawedr & R W SdEdt oF 9t dehdl @
Fram | fredh e ) o 9 Rl F fort fohe weR & witerr wel € |

Explain the kinds of signals that warn a manager about an employee requiring
training. What types of training are critical for employees going on an overseas

assignment ? 10
2.(2) e T3 siaRe it & e Sfa ool afed SR K | EA Sl 6 qe

g fit TEEH wK |

Differentiate between ‘Entrepreneur’ and ‘Intrapreneur’ with suitable examples.

Identify key traits of a successful entrepreneur. 15

2.(b) AN F TEER I g A 1 @ arefawar H dgafd W AEia e g,
a1 5 arafiear | |7 TS F9ER & AAT H Ffd & W &l S9ER
I T W T W el W | Sl B uRE KA a FR HF R 7
“People’s behaviour is based on their perception of what reality is, not on the reality

itself.” Comment on the statement, highlighting the importance of perception in the

study of Organisational Behaviour. What are the factors that influence perception ?
15
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2.(c) wUWAT gRT FHARAT T oW G I & Tk & gl F | A1 gRT FEEal &
HAITA 3R IATGHAT W I 9Tl THE TR 9] 3.7 39er @t & 7

Explain the rationale behind companies providing benefits to their employees. What

effect do companies expect, benefits will have on employee morale and productivity ?
20

3.(a) HIG3-19 WEMKI TG TH-Tohd g Wl Bl ol AU FeATst § Afvaed FREr
FTATERV &I AEAYT ®T & YA T R | IR IR 91 R 3% WHIT &7 G989
# i & | IaRE Afeed FRIGRE aERe § g9 wY F o ud gaus &
HTagae U Td deredt 6 fafga w1
Recent international events such as the pandemic Covid-19 and the Russian-Ukraine
war significantly impacted global business environment. Briefly evaluate its impact
on Indian business operations. Identify attributes and skill-sets required by a manager
to operate under the prevailing global business environment. 20

3.(b) A F AR fagidl & Faa from qur e dwrt wn € 2 Jan e yeR
Tgvee U@ favam & famfor Ry o e W us gERiHE uNE 2 g9 § 2
What are the central tenets and main limitations of behavioural theories of leader-
ship ? How can leaders have a positive impact on their organizations through building

trust and mentoring ? 15

3.c) o fawmuwrwre ?
frafafaa & amw ik eifat sad -
(i) sraetre fafy
(i) Tfa weeaet fafl o
(i) s fafer
‘What is Job analysis ?
Identify the advantages and disadvantages of :

(i) Observation Method
(i1) Structured Questionnaire Method and

(1ii) Diary Method 15
4.(a)  heRe o=, TR T R WA F WU HAURTSH H wHAD | A F AT F qEm

R T TASTAT Sl TETM |

Explain the management concepts of Frederick W. Taylor and Henri Fayol. Identify

key differences between the two and their applicability. 15

4.(b) ST TEH I © o AN T, ST GG A FTHT SR TP ¥ FH A £ | A
foar @ | e # 9 & Gwifad watexlia, @rearers vd safmrg @ w1 § 2
Researchers argue that challenge stressors operate quite differently from hindrance
stressors. Give your views. What are the potential environmental, organizational and

personal sources of stress at work ? 15
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4.(c)  HRER F 9T URURSE RO 471 € ? T G WOT A QA FIF G I 99T TGHT
qad: H WA © | e feeR i s & |

What are the five traditional career stages ? Which of the five stages is probably least
relevant to Human Resource Management ? Explain your view. 20

9us ‘B’ SECTION ‘B’

5.()  facia faaor &t fafr el w— weer et | 3 R weR & @ fEm ar o
B o ST deRar @ ?

Highlight various limitations of financial statements. How can these be minimized
or resolved ? 10

5.() I ISR TE H3T aWR A yH@ fafieast ) g o |
Highlight the major differences between Capital Market and Money Market. 10

S5.(c) o sgEg w1 R ? wFEES & WiOS-Igedl @ R & ol fafgd = A
FrEaFHAT F eIt § ?

What is a Futures Contract ? Why do exchanges require future contracts to be
marked to the market ? 10

5.(d) UTEE ASHET HeF il GehoqdT T AU o qdT I IS F 1Y ATed GaY
Wﬁ%%mﬁlwmmmmﬁ%&
WA aRar ® ?

Explicate the concept of Customer Lifetime Value (CLV) and its applicability in
Customer Relationship Management (CRM) with suitable examples. How do IT
applications impact customer retention ? 10

5.() WK Tew # gEaRw Hed fauior 6 wehedr @ Sfua Sereot afed wd sER
watta fames o= ® aw ey |
Explain the concept of transfer pricing with suitable examples and related regulatory
framework in Indian context. 10

6.(a) Sf¥a Jgrexolt afeq v aRkfesf & awemd fedt qoagm 6 faftm ga et =
IR T ® |

Explain the circumstances under which different methods of depreciation can be
employed by giving suitable examples. 20
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100 & & T 1 PR F99 R 8% & 5 98 SR 3T BRI | AT I

6.(b)

e A T B R 12% & 7 (Ge ¥q A Wew ?)

A X100 par value bond bearing a coupon rate of 8% will mature after 5 years.

M H I M

TR

Interest is payable quarterly. What is the value of the bond, if the discount rate is

12% ? (Chart given for reference)

15
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6.(c)

7.(a)

7.(b)

7.(c)

faq g9R fisor & weer e | fueaTR R weert S Emimerege o
SedTfed WRA & SEAKA IUrEdT aTelt bl % fauve ¥ w9R e 9w wo

ad FRa H afga &= |

Explain the concept of Marketing Communication Mix. Identify the factors Influ-
encing Communication Mix for marketing India’s finest quality Coffee produced by
Chikmagalur based Coffee Plantation Cooperative. 15
R Hfaem # awidia fw & sravaswar w=@ St @ 7 Sudh G . § 2
Why is Budgetary control required in a business concern ? What are its limitations ?

15

auNfed SR areEt ® (MIRR) F1 # 7 wfowe 6 siaRke & (RR) 3R ug
A FF (NPV) & g § 36 o 41 gifar = € |

What is modified internal rate of return (MIRR)? What are the pros and cons
of MIRR vis-a-vis IRR & NPV ? 15

(i) I9G Sia 9% I TohodrT GHAT quT Frafafas & ol S whisaan
ERIE
(1) MaTzd B
(2) =13

(i) TR @ T SaOEt & I NaT 9% F fifm o & fR Rove orify
qaATH |

(i) Explain the concept of Product Life Cycle (PLC) and its applicability for the
following :
(1) Mobile phone
(2) Tea 10

(i) Suggest marketing strategies in different phases of PLC for the above products.
10
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8.(2) A @ wh e ABC fufies & wafim @ s dveiw s R Y T e cuiee
The data below relates to ABC Ltd. which makes and sells laptops.
February January

— fashit (za3) : 8000 12000

Sales (units)

— 3T (THT3) 12000 8000
Production (units)

— yfy afte fsht /=@ (%) 120/- 120/-
Selling Price per unit (%)
— ufy gfte aftEdea Sced @rE (%) 60/- 60/-
Variable production cost per unit ()
_ fafsya S oo o (%) 1,50,000/- | 1,50,000/-
Fixed production overhead incurred ()

— wfy 3 ffea S Ikt @r,
N ¢ gEfaifia Fo s@EeT ) (%) 10/- 10/-
Fixed production overhead cost per unit,
being the predetermined overhead absorption
rate (%)

_ forfY, freror, wymER @wa (@ ffsa) (%) 75,000/- 75,000/-
Selling, Distribution and Administration cost
(all fixed) ()

frafifed o1 STEN FA T AT W HEW F fordt R o faeRor weqa
AT % s
(i) @O H AT
(ii) dHTE aRTd
You are required to present comparative profit statements for each month using :
(i) Absorption costing
(ii) Marginal costing 20
8.(b) ﬁnﬁaﬁm%g@ww%?ﬁvﬁam%ﬁﬁwmﬁ%ﬁqﬁ%ﬁﬁ
AT ST ATt STh e UHITA TR W STl |
What are the primary causes of corporate distress ? Highlight the appropriate
restructuring strategies that can be adopted to deal with different causes of corporate

distress. 15
8.(c) wa@ &l i qeum e o fed 5 a§f & gEAT-guR WS 3 wEfad fagom

gt ) uRafia &% far | o9 SR @ Sugeh Sereddl grr Sfua fig & |

Identify key areas where Information and Communication Technology (ICT) has

transformed prevailing marketing practices in the past 5 years. Justify your answer
with suitable examples. 15
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